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E–625 

M. A. (Third Semester) 

EXAMINATION, Dec.-Jan., 2020-21 

ECONOMICS 

Paper Second 

(International Trade) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- 1933 esa izdkf’kr fdrkc ‘Inter-regional and International 

Trade’ ds ys[kd dkSu gSa \ 

¼v½ cfVZy vksgfyu 
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¼c½ ,yh gSD’kpj 

¼l½ th- oh- gScjyj 

¼n½ ts- ,l- fey 

Who is the author of the book ‘Inter-regional and 

International Trade’ published in 1933 ? 

(a) Bertil Ohlin 

(b) Ali Heckscher 

(c) G. V. Haberler 

(d) J. S. Mill 

2- rqyukRed ykHk fl)kUr ds vuqlkj fuEufyf[kr fLFkfr esa varjkZ”Vªh; 

O;kikj ugha gksxk ;fn % 

¼v½ dksbZ ns’k nksuksa gh mRiknksa ds mRiknu esa n{k gSA 

¼c½ dksbZ ns’k nksuksa gh mRiknksa ds mRiknu esa vn{k gSA 

¼l½ nksuksa ns’kksa esa nksuksa gh mRiknksa dh volj ykxr leku gSA 

¼n½ mi;qZDr esa ls dksbZ ugha 

According to Comparative Advantage Theory, International 

Trade will not take place, if : 

(a) One country is efficient in the production of both the 

products. 

(b) One country is inefficient in the production of both the 

products. 

(c) Opportunity costs of the two products are same in both 

the countries. 

(d) None of the above 
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3- O;kikj dh ‘krks± dh ldy oLrq fofue; ds :i esa O;k[;k fdlus  

dh \ 

¼v½ tSdc okbuj us 

¼c½ ,Q- MCY;w- VkWflx us 

¼l½ ts- ,l- fey us  

¼n½ th- ,l- MksjsUl us 

Who interpreted the terms of trade as gross barter ? 

(a) Jacob Viner 

(b) F. W. Taussig 

(c) J. S. Mill 

(d) G. S. Dorrance 

4- oLrq ds otu] vkdkj ;k uki ds vuqlkj yxk;k x;k iz’kqYd dgykrk 

gS % 

¼v½ ewY;kuqlkj iz’kqYd  

¼c½ fof’k”V iz’kqYd 

¼l½ ,dy dkWye iz’kqYd 

¼n½ nksgjk dkWye iz’kqYd 

A tax imposed on a commodity according to its weight, size 

or measurement is called : 

(a) Ad valorem tariff 

(b) Specific tariff 

(c) Single column tariff 

(d) Double column tariff 
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5- varjkZ”Vªh; O;kikj esa lk/ku dher lekuhdj.k izes; lEcfU/kr gS % 

¼v½ lSE;qvYlu ls 

¼c½ th- oh- gScjyj ls 

¼l½ fjfCtULdh ls 

¼n½ izks- VkWÇlx ls 

The theorem of factor price equilisation on trade is related  

to : 

(a) Samuelson  

(b) G. V. Haberler 

(c) Rybczynski 

(d) Prof. Taussig 

6- fjfCtUldh izes; ds vuqlkj] fLFkj lkis{k oLrq dherksa ij flQZ ,d 

dkjd fuEufyf[kr ds mRiknu esa iw.kZ foLrkj dh vksj izoŸ̀k djrk gS % 

¼v½ nksuksa oLrq,¡ 

¼c½ of̀)dkjh dkjd dks xgu :i ls mi;ksx djus okyh oLrq 

¼l½ xSj&of̀)dkjh dkjd dks xgu :i ls mi;ksx djus okyh oLrq 

¼n½ mi;qZDr esa ls dksbZ ugha 

According to the Rybczynski theorem the growth of only 

one factor at constant relative commodity process, leads to 

an absolute expansion in the output of : 

(a) both commodities 
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(b) the commodity using the growing factor intensively 

(c) the commodity using the non-growing factor 

intensively 

(d) None of the above 

7- LVksIyj&lSE;qvYlu izes; ds vuqlkj jk”Vª }kjk v/;kjksfir iz’kqYd }kjk 

ns’k dh okLrfod vk; esa fuEufyf[kr esa D;k gksrk gS \ 

¼v½ izpqj lk/ku dh vk; c<+rh gSA 

¼c½ nqyZHk lk/ku dh vk; c<+rh gSA 

¼l½ nqyZHk lk/ku dh vk; ?kVrh gSA 

¼n½ ¼v½ rFkk ¼c½ nksuksa laHko gSaA 

The Stopler-Samuelson theorem postulates that the 

imposition of a tariff by a nation causes the real income of 

the nation’s : 

(a) Abundant factor’s income to rise. 

(b) Scarce factor’s income to rise. 

(c) Scarce factor’s income to fall. 

(d) (a) and (b) both are possible. 

8- varjkZ”Vªh; O;kikj dh ikjLifjd ek¡x dk fl)kUr fuEukafdr esa ls 

fdlus izfrikfnr fd;k \ 

¼v½ MsfoM fjdkMks±  

¼c½ th- oh- gScjyj 

¼l½ ts- ,l- fey 

¼n½ ,Me fLeFk 
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Which of the following is given by theory of reciprocal 

demand of international trade ? 

(a) David Ricardo 

(b) G. V. Haberler 

(c) J. S. Mill 

(d) Adam Smith 

9- fuEufyf[kr esa ls dkSu&lk dFku lR; gS \ 

¼v½ Hkqxrku larqyu ds varxZr O;kikj larqyu Hkh ‘kkfey jgrk gSA 

¼c½ O;kikj larqyu ds vUrxZr Hkqxrku larqyu Hkh ‘kkfey jgrk gSA 

¼l½ Hkqxrku larqyu o O;kikj larqyu dk ijLij dksbZ lEcU/k ugha 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which of the following statements is true ? 

(a) The balance of payments also includes the balance of 

trade. 

(b) The balance of trade also includes the balance of 

payments. 

(c) There is no correlation between balance of payments 

and trade balance. 

(d) None of the above 

10- tc dksbZ ns’k vk;kr iz’kqYd yxkrk gS] rks ns’k dk izLrko oØ % 

¼v½ fu;kZr ekius okyh /kqjh ls vyx gVsxkA 

¼c½ fu;kZr ekius okyh /kqjh ds fudV vk,xkA 

¼l½ vk;kr ekius okyh /kqjh ds fudV vk,xkA 

¼n½ mi;qZDr esa ls dksbZ ugha 
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When a nation imposes an import tariffs, the nation’s offer 

curve will : 

(a) Shift away from the axis measuring exports. 

(b) Move closer to the axis measuring exports. 

(c) Move closer to the axis measuring imports. 

(d) None of the above 

11- fuEukafdr esa ls dkSu&lk xSj&iz’kqYd ck/kkvksa esa lfEefyr ugha gS \ 

¼v½ cgqrUrq O;oLFkk 

¼c½ LoSfPNd fu;kZr #dkoVsaa 

¼l½ izfrldkjkRed ‘kqYd 

¼n½ vk;kr ykblsaflax 

Which of the following is not included in the non-tariff 

barriers ? 

(a) Multifiber arrangement 

(b) Voluntary export restraints 

(c) Countervailing duty 

(d) Import licensing 

12- oLrqvksa ds vk;kr ,oa fu;kZr ds chp dk varj D;k dgykrk gS \ 

¼v½ O;kikj larqyu 

¼c½ Hkqxrku larqyu 

¼l½ pkyw [krk dk ‘ks”k 

¼n½ iw¡th [kkrk dk ‘ks”k 
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The difference between the export and import of goods is 

called : 

(a) Balance of trade  

(b) Balance of payment 

(c) Balance of current account 

(d) Balance of capital account 

13- cktkj ds lHkh Hkkxksa esa fofue; nj dks fdlds }kjk ,dleku j[kk 

tkrk gS \ 

¼v½ fofue; fookpu 

¼c½ C;kt fookpu 

¼l½ gSftax 

¼n½ lV~Vsckth 

The exchange rate is kept the same in all parts of the market 

by : 

(a) Exchange arbitrage  

(b) Interest arbitrage 

(c) Hedging 

(d) Speculation 

14- rRdky fons’kh eqnzk fofue; nj fdlls lEcfU/kr gS \ 

¼v½ forj.k ds fy, fons’kh eqnzk dk foØ; 

¼c½ forj.k ds fy, fons’kh eqnzk dk Ø; 
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¼l½ Hkfo”; esa forj.k ds fy, fons’kh eqnzk dk Ø; vFkok foØ;  

¼n½ nks O;olk; fnuksa ds vanj forj.k ds fy, fons’kh eqnzk dk Ø; 

vFkok foØ; 

A spot Foreign Exchange Transaction rate refers to : 

(a) The sale of foreign exchange for delivery 

(b) The purchase of foreign exchange for delivery 

(c) The purchase or sale of foreign exchange for delivery 

in future 

(d) The purchase or sale of foreign exchange for delivery 

within two business days. 

15- ns’k ds }kjk vk;kr ij ifjek.kkRed izfrcU/k fdl vksj izo`Ÿk djrs  

gSa \ 

¼v½ vk;kfrr oLrqvksa ds fy, ek¡x esa kl 

¼c½ vk;kfrr oLrqvksa ds fy, ek¡x esa of̀) 

¼l½ vk;kfrr oLrqvksa dh vkiwfrZ esa of̀) 

¼n½ vk;kfrr oLrqvksa dh vkiwfrZ esa kl 

Quantitative restrictions on imports by a country will lead  

to : 

(a) Decreased demand for imported products 

(b) Increased demand for imported products 

(c) Increased supply of imported products 

(d) Decreased supply of imported products 
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16- Hkqxrku larqyu ls vk’k; gS % 

¼v½ leLr cSadksa dh izkfIr;ksa ,oa Hkqxrkuksa dk larqyu 

¼c½ Hkkjrh; LVsV cSad dh izkfIr;ksa ,oa Hkqxrkuksa dk larqyu 

¼l½ fdlh ns’k }kjk fons’kh eqnzk dh izkfIr;ksa ,oa Hkqxrkuksa dh larqyu 

¼n½ ljdkjh izkfIr;ksa ,oa Hkqxrkuksa dk larqyu 

Balance of payments means : 

(a) The balance of receipts and payments of all Banks 

(b) The balance of receipts and payments of State Bank 

(c) The balance of receipts and payments of foreign 

exchange by a country  

(d) The balance of govt. receipts and payments 

17- fons’kh O;kikj xq.kd dk ewY; mPp gksxk tc % 

¼v½ cpr dh lhekUr izof̀Ÿk mPp gks 

¼c½ vk;kr dh lhekUr izof̀Ÿk mPp gks 

¼l½ cpr ,oa vk;kr dh lhekar izof̀Ÿk fuEu gksrh gks 

¼n½ ?kjsyw oLrqvksa ds miHkksx dh lhekUr izof̀Ÿk mPp gksrh gks 

The value of foreign trade multiplier will be high under the 

condition when : 

(a) Marginal propensity to saving is high 

(b) Marginal propensity to import is high 

(c) Marginal propensity to saving and import is low 

(d) Marginal propensity to consume to domestic goods is 

high 
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18- Hkkjr ds Hkqxrku larqyu esa ?kkVs ;k vfrjsd dks fuEufyf[kr ds fuoy 

larqyu }kjk ekik tkrk gS % 

¼v½ pkyw [kkrk 

¼c½ iw¡thxr [kkrk 

¼l½ ,l- Mh- vkj- dk vkcaVu vkSj lkaf[;dh; folaxfr 

¼n½ mi;qZDr lHkh 

Deficit or surplus in the India’s balance of payments is 

measured by the net balance of : 

(a) The Current Account 

(b) The Capital Account 

(c) Allocation of SDRs and the statistical discrepancy 

(d) All of the above 

19- fuEufyf[kr esa ls dkSu&lk tksM+k lgh ugha gS \ 

¼v½ okyjl % ikVu ‘krs± 

¼c½ izsfc’k  % O;kikj dh iruksUeq[kh ‘krs± 

¼l½ ek’kZy  % izLrko oØ 

¼n½ VkWÇlx  % O;kikj dh oLrq&fofue; ‘krs± 

Which of the following pairs is not correctly matched ? 

(a) Walras :  Dumping Condition 

(b) Prebisch :  Deteriorating Terms of Trade 

(c) Marshall :  Offer Curves 

(d) Taussig :  Barter Terms of Trade 
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20- fons’kh O;kikj xq.kd dk lehdj.k gS % 

¼v½ #i;k & MkWyj vuqikr 

¼c½ mpm + mps 

¼l½ dj & ldy ?kjsyw mRikn vuqikr 

¼n½ 
1

mpm + mps
 

The equation of foreign trade multiplier is : 

(a) Rupee – Dollar Ratio 

(b) mpm + mps 

(c) Tax –GDP Ratio 

(d) 
1

mpm + mps
 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

1- eqDr O;kikj ls D;k vk’k; gS \ 

What is the meaning of free trade ? 

2- rqyukRed ykxr ls D;k vk’k; gS \ 

What is the meaning of comparative costs ? 
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3- izLrko oØ ls D;k vk’k; gS \ 

What is the meaning of officer curve ? 

4- fdaMycxZj us iz’kqYd ds fdrus izHkko crk, gSa \ 

How many affect does Kindleberger to the tariff ? 

5- O;kikj dh ‘krks± ls D;k vk’k; gS \ 

What is the meaning of terms of trade ? 

6- Hkqxrku larqyu esa iw¡thxr [kkrk ls D;k vk’k; gS \ 

What is the meaning of Capital Account in balance of 

payments ? 

7- vfxze fofue; nj ls D;k vk’k; gS \ 

What is the meaning of forward exchange rate ? 

8- ykspnkj fofue; nj ls D;k vk’k; gS \ 

What is the meaning of flexible exchange rate ? 

 [k.M&l izR;sd 3 

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A ¼djhc 75 ‘kCnksa esa mŸkj nhft,A½ 

 Attempt all questions. (Answer in about 75 words.) 

1- lk/ku xgurk myVko ls D;k vk’k; gS \ 

What is the meaning of factor intensity reversal ? 
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2- izfr’kks/kkRed iz’kqYd ls D;k vk’k; gS \ 

What is the meaning of retaliatory tariff ? 

3- c<+rh gqbZ volj ykxrksa ls D;k vk’k; gS \ 

What is the meaning of increasing opportunity costs ? 

4- O;kikj dh ‘krks± ij ikjLifjd ek¡x ds izHkko dks le>kb,A 

Explain the effect of reciprocal demand on terms of trade. 

5- vk;kr dksVk ls D;k vk’k; gS \ 

What is the meaning of import quota ? 

6- fons’kh O;kikj xq.kd ls D;k vk’k; gS \ 

What is the meaning of foreign trade mulitplier ? 

7- Hkqxrku ‘ks”k dk ljdkjh O;oLFkkiu ys[kk ls D;k vk’k; gS \ 

What is the meaning of official settlement account in balance 

of payments ? 

8- voewY;u ds varxZr ts&oØ ls D;k vk’k; gS \ 

What is the meaning of J-curve under devaluation ? 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A ¼djhc 150 ‘kCnksa esa mŸkj nhft,A½ 

 Attempt all questions. (Answer in about 150 words.) 

1- lk/ku dher lekuhdj.k ds fl)kUr dh O;k[;k dhft,A 

Explain the theory of factor price equalization. 
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vFkok 

(Or) 

varjkZ”Vªh; O;kikj dh ikjLifjd ek¡x fl)kUr dh O;k[;k dhft,A 

Explain the reciprocal demand theory of international trade. 

2- fjfCtULdh izes; dh O;k[;k dhft,A 

Explain the Rybczynski theorem. 

vFkok 

(Or) 

ldy oLrq fofue; O;kikj dh ‘krks± ls D;k vk’k; gS \ O;k[;k 

dhft,A 

What is the meaning of gross barter terms of trade ? Explain. 

3- laj{k.k dh fof/k ds :i esa iz’kqYd ds xq.k ,oa nks”kksa dh O;k[;k 

dhft,A 

As a method of protection discuss the merits and demertis of 

a tariff. 

vFkok 

(Or) 

vk; forj.k ij iz’kqYd ds izHkko ds varxZr LVksIyj lSE;qvYlu ds 

fl)kUr dks le>kb,A 

Explain the Stopler-Samuelson’s theory under the effects of 

a tariff on income distribution. 
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4- voewY;u ds varxZr ek’kZy&yuZj dh n’kkvksa dh O;k[;k dhft,A 

Explain the Marshall-Lerner’s condition under devaluation. 

vFkok 

(Or) 

fefJr fofue; nj iz.kkyh dh O;k[;k dhft,A 

Explain the hybrid exchange rate system. 
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